rr

[

°f 5 dhigho]l 2 Ad = Yastit. axtE
H?

Ko

)

o dlo

Q@ +8 © -4 ® +9 ® 0 @ +11

0©-©-0-0-0-®@ 06-0-0-0-0-©
©©-0-0-0-8-®@ ®6-0-0-0-0-©
®e-0-0-0-0-0

B
@ +8 2| AHg2 8 ol

© —4 o] dHgh2 4 oJth.

© +9 o EHgh2 9 ot

@0 o AUigt2 0 ot

©® +11 o] EHgh2 11 oJrt.

® -12 o F9igh2 12 o]t

dhgke] 2 &AdE UEsld @-@-0-9-0-@°l
.




_Jem
)
)

{(=3)+(=D}+{(+2)+(+4)

(=4)+(+6)

(=3)+(-1)+(+2)+(+4)
=49

(=3)—(=4)+(+2)—(+1)
(=3)+(+4)+(+2)+(-1)

=
T
N
B )
aﬂm/
ROROROROR i
BOm B R R ‘o
wow O R %%M
HoH oW T o &
2 2L oo wl_ﬂ(,
I~ o~ e~ o~ wm41_
FOE R OE OE W
IR o T H o
How oW oW M W I @




@)-10 ©-1 @-12 @®-13 ©-14

(=9) + (-4) = (-3) = {(-9) + (-4)} + (+3)

(-13) + (+3) = -10




4. teF AN BPE 2 R

D -1+3-5 @)3+5-9 ® 2-8+44

@ -6+2-3 ® -7+12-8

D-3,0-2,®-7,6 -3
@3+5-9=(+8)—(+9) = (+8) + (-9) = -1 °| B2 7}F
Ao,




Evrt & o, a+b

|
o
o
N
s
oju
rlu
4
i
kS
&
HL
i)

|
]
oju
L)
Mo
>

a=-3+4=(-3)+(+4) = +1,
b=-5-(-2) = (-5) + (+2) = -3
wehA] a4+ b = -2 o]t}




=

oo

2}

it

g

o

A

el

z o] g7 ¢k

Mo
o

1=H?

@ o} 3], Ao 242, do] zpalo] a7t 2zt a, b, ¢ Q1 5
100a + 10b + ¢

@)t 2A219] Qol7t x em 9 AL ] 2K o] : 6xem?

1

® a g o Aol 5ol = £FE 200 T Ja %

@ A% v km o Y02 1 A1 5 = A v km

® 717} p Y ABEE 25% Flsto] ToL-S wfo] wajr}
“p
4P =

@ xx x X6 =6x2(cm?)




0 sEke B2 ALg T Ao LEd Ao 22 21209
10 420] @ 99 AT T 2p2= 0] 7t
D 1049 o Lag e Xy
a a
10—-a
o <
®)0.1a ¥ ® 10

1 A2 110 oo|B & 0.1g ¢




ELo] Bx17F Qe A2 thgh4] o] ofym dapr] o2 A7}t
&=t}
JHBg 235711 Q1 DAL 30 + 4




